Maytag MFR35PCATS 22 - MOTOR & BASKET PULLEY (SERIES 11)

Maytag Residential Maytag MFR35PCATS Washer Parts Parts Diagram 22 - MOTOR & BASKET PULLEY (SERIES
1)
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23001269 Motor
" 23001270 Motor
" 23002317 Switch, Centrifugal
" 24001017 Bearing, Motor
002 23002925 Shaft, Sliding Ring Motor
003 23001273 V-Pulley
004 23002926 Rod, Motor Support
" 23002927 Shaft, Extension Motor
005 23001278 Tensioner, Belt
006 23001279 Belt, Tension Spring
007 23001280 Bushing, Tapered
" 23002336 Bolt, Socket Head
008 23001282 Washer
009 23002661 23001283 Bolt
010 23001284 Pulley, Basket

011 23002928 Motor, Protection Shield


http://www.pwslaundry.com/c-504144-residential-maytag-mfr35pcats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10404463-maytag-23001269-washer-motor.html
http://www.pwslaundry.com/i-10404657-maytag-23001270-washer-motor.html
http://www.pwslaundry.com/i-10402600-maytag-23002317-washer-switch-centrifugal.html
http://www.pwslaundry.com/i-10406237-maytag-24001017-washer-bearing-motor.html
http://www.pwslaundry.com/i-10404468-maytag-23002925-washer-shaft-sliding-ring-motor.html
http://www.pwslaundry.com/i-10404465-maytag-23001273-washer-v-pulley.html
http://www.pwslaundry.com/i-10401528-maytag-23002926-washer-rod-motor-support.html
http://www.pwslaundry.com/i-10404650-maytag-23002927-washer-shaft-extension-motor.html
http://www.pwslaundry.com/i-10401520-maytag-23001278-washer-tensioner-belt.html
http://www.pwslaundry.com/i-10404466-maytag-23001279-washer-belt-tension-spring.html
http://www.pwslaundry.com/i-10404467-maytag-23001280-washer-bushing-tapered.html
http://www.pwslaundry.com/i-10404649-maytag-23002336-washer-bolt-socket-head.html
http://www.pwslaundry.com/i-10404599-maytag-23001282-washer-washer.html
http://www.pwslaundry.com/i-10404644-maytag-23001283-washer-bolt.html
http://www.pwslaundry.com/i-10401503-maytag-23001284-washer-pulley-basket.html
http://www.pwslaundry.com/i-10404651-maytag-23002928-washer-motor-protection-shield.html

012 23001287 V-Belt

014 23002929 Screw, Socket Set

016 23001291 Bushing, Rubber Motor Mount

018 23002475 23001264 Bolt M8x20

020 23002399 23001014 Nut M4

022 23002653 23001203 Washer


http://www.pwslaundry.com/i-10404646-maytag-23001287-washer-v-belt.html
http://www.pwslaundry.com/i-10401522-maytag-23001288-washer-key-basket-pulley.html
http://www.pwslaundry.com/i-10404605-maytag-23002929-washer-screw-socket-set.html
http://www.pwslaundry.com/i-10404469-maytag-23002930-washer-screw-socket-set.html
http://www.pwslaundry.com/i-10404648-maytag-23001291-washer-bushing-rubber-motor-mount.html
http://www.pwslaundry.com/i-10404577-maytag-23001292-washer-washer.html
http://www.pwslaundry.com/i-10404153-maytag-23001264-washer-bolt-m8x20.html
http://www.pwslaundry.com/i-10401510-maytag-23002932-washer-spring-lock-washer.html
http://www.pwslaundry.com/i-10404471-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-10404576-maytag-23001294-washer-bolt.html
http://www.pwslaundry.com/i-10401768-maytag-23001203-washer-washer.html

	Maytag MFR35PCATS 22 - MOTOR & BASKET PULLEY (SERIES 11)

